
	CSCI 1302 – Practice Exam 1 – Fall 2005


	1.
	A class for which you can create instances is called a(n): 

	A)
	interface 

	B)
	concrete class 

	C)
	abstract class 

	D)
	class method 


	2.
	When a timer event occurs, the timer needs to notify an object, called the ... 

	A)
	event listener 

	B)
	timer action. 

	C)
	event method. 

	D)
	timer event. 


	3.
	The default class access is: 

	A)
	package 

	B)
	none 

	C)
	default 

	D)
	controlled 


	4.
	Given the following code segments:

public class Country implements Locatable

{

....

}

public class Tester

{

...

    Country norway = new Country();

    statement2

}
Which of the following statemens would be valid as statement2? 

	A)
	Locatable where = norway; 

	B)
	Locatable where = new Locatable(); 

	C)
	Locatable where = Country(); 

	D)
	Locatable where = new Rectangle(); 


	5.
	Which of the following could be a method in an interface? 

	A)
	double getData(); 

	B)
	public getData(); 

	C)
	public void getData(){ }

	D)
	public getData() { }


	6.
	If your buttons seem dead (don't respond), a probable cause is that 

	A)
	you didn't attach the listener to the button. 

	B)
	you didn't create the event object. 

	C)
	you didn't program the event class. 

	D)
	you didn't initialize the event source class 


	7.
	Which of the following is NOT a valid way to construct a JButton? 

	A)
	JButton stopButton = new JButton("STOP"); 

	B)
	JButton stopButton = new JButton(new ImageIcon("sign.gif")); 

	C)
	JButton stopButton = new JButton("Stop",10); 


	8.
	Event listener classes 

	A)
	report on events. 

	B)
	implement event listener interfaces. 

	C)
	contain detailed information about events. 

	D)
	generate user output. 


	9.
	An inner class is allowed to access private variables from: 

	A)
	outer class 

	B)
	other classes 

	C)
	other methods 

	D)
	interfaces 


	10.
	myArea is a JTextArea. Which of the following is true, given the following statement:


myArea.setEditable(false);

	A)
	The user can not edit the textarea, but your program can. 

	B)
	Neither the user nor your program can edit the textarea. 

	C)
	The user can edit the textarea, but your program can not. 

	D)
	There is no way to prevent either the user or your program from editing a textarea. 


	11.
	To listen for events, you construct listener objects and attach them to the 

	A)
	event sources. 

	B)
	action listeners. 

	C)
	event managers. 

	D)
	source constructors. 


	12.
	Which of the following are examples of events? 

	A)
	mouse click 

	B)
	button press 

	C)
	key press 

	D)
	displaying text in a textbox 

	E)
	displaying a frame window 

	F)
	A, B, and C 


	13.
	An instance field with protected access can be accessed by methods of 

	A)
	the Object class. 

	B)
	the class's subclasses. 

	C)
	all classes in the same package. 

	D)
	all classes in the all package. 

	E)
	None of the Above 


	14.
	A final method 

	A)
	can not be overriden. 

	B)
	can not be public. 

	C)
	can not be instantiated. 

	D)
	must be private. 


	15.
	Given the following class definition:

public class Vehicle

{

    public void drive(double miles)

    {
...

    }

}
Why won't this subclass compile?

public class Car extends Vehicle

{

    private void drive(double miles)

    {
...

    }

}

	A)
	It will compile. 

	B)
	The drive method of the Car class can not be more private than the drive method of the superclass. 

	C)
	A method can never be declared private. 

	D)
	Car can not have a method with the same name as one in its superclass. 


	16.
	You are writing a class Employee as a subclass of Person, ie:

public class Employee extends Person
You want to call the default constructor of the Person class. Which statement should you use? 

	A)
	super(); 

	B)
	Person(); 

	C)
	this(); 

	D)
	you can not call it. 


	17.
	When defining a subclass, you specify 

	A)
	added instance fields 

	B)
	added methods 

	C)
	overridden methods 

	D)
	overridden instance fields 

	E)
	multiple inheritance 

	F)
	A, B, and C 


	18.
	The toString method of an object should return a string that describes 

	A)
	the object state. 

	B)
	the object methods. 

	C)
	the object reference variable. 

	D)
	the object subclasses. 


	19.
	When defining methods of a subclass, which of the following are true? 

	A)
	You can override methods of the superclass. 

	B)
	You can inherit methods from the superclass. 

	C)
	You can define new methods in the subclass. 

	D)
	All of the Above 


	20.
	If you do not supply an access control modifier, then the default is 

	A)
	package access 

	B)
	private 

	C)
	public 

	D)
	protected 


	21.
	To call the constructor of a superclass, use: 

	A)
	super() 

	B)
	upper() 

	C)
	class() 

	D)
	superclass() 


	22.
	By default, a JPanel uses 

	A)
	flow layout 

	B)
	panel layout 

	C)
	border layout 

	D)
	graphical layout 

	E)
	frame layout 


	23.
	A menu can contain 

	A)
	other menus. 

	B)
	menu bars. 

	C)
	menu items. 

	D)
	text bars 

	E)
	Both A and C 


	24.
	Which of the following questions could you expect to find the answer to in the Java API for the user interface component JColorChooser. 

	A)
	How do I construct a JColorChooser? 

	B)
	How do I get notified when the user has made a selection? 

	C)
	How do I tell which value the user has selected? 

	D)
	How do I construct a Color object. 

	E)
	How to set the backgound color to the selected color. 

	F)
	A, B, and C 


	25.
	Which of the followong generate action events? 

	A)
	radio buttons 

	B)
	check boxes 

	C)
	combo boxes 

	D)
	buttons 

	E)
	All of the Above 


	26.
	Assume the class Mammal exists. Write the code to define a subclass Horse of the class Mammal. 


	27.
	Write the code for an abstract method called move that takes one integer parameter. 


	28.
	With ____ layout , the individual components grow to fill the area allotted to them. 


	29.
	In order to install a MouseListener object for an applet window, you call the applet's ____ method and pass it the listener object as a parameter. 


	30.
	The principle that the actual type of the object determines the method to be called is called ____ . 


Answer Key
	1.
	B

	2.
	A

	3.
	A

	4.
	A

	5.
	A

	6.
	A

	7.
	C

	8.
	B

	9.
	A

	10.
	A

	11.
	A

	12.
	F

	13.
	B

	14.
	A

	15.
	B

	16.
	A

	17.
	F

	18.
	A

	19.
	D

	20.
	A

	21.
	A

	22.
	A

	23.
	E

	24.
	F

	25.
	E

	26.
	

	27.
	

	28.
	border 

	29.
	addMouseListener 

	30.
	polymorphism 
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